
THEORY OF EQUATIONS

Form an elevation oflowestdegree
withRational cooff. Ifone ofits
roots is 52 +55.

So!Letf(ul = 0 isrequired ef
⑤

Now Given Root off(x) is52 + 55



In an eg. withRational coeff
irrational roots occur in conjugate
pass.

=> 52.55.-52 + 55.-52-55
are

roote off(x)

=> (x - (52 +55),(x - 752 - 55)),
(x - 1 - 52 +55))(x - 1- 52 - 55)) are
factor off(x)



=> f(x) =(x - (52 +55))(x - (2 - 55))

(x - 1- 52 +55))(x - (- 52 - 5))

=((x - 52) - 55)(( - 52) +5]

((x +52) - 553)(( +52) +55)

= ((x - 52)" - 53(x +() - 5]



=(n2 +2 - 252x - 5)

(x( +1 +252x - 5)

=(() - 3) - 252x)(2 - 3) +252x)

= (p- 1) - (252u)

= 2" +9 - (x) - 8x-

= x" - 14x +9 =0 An


